E Section 5.3 solving systems by substitution.pdf - Adobe Reader - |5 |£|
File Edit View Window Help ®

Do | 8 B3 & = | @ [1]/2] = [132% -] | [ = | [®] Tools | Fill&Sign | Comment
E —
Date:
i Section
( Systems by Substitution cth

Step 2: Solve for x by rearranging to get the variable terms on one

% ide of the equation mjhe nu terms on the other.

RS. = Does L.S. = R.S.?
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L.S. =

y= —
Step 4: Check by substituting into the other equation.
y=—3x—17 @

R.S. =
RS. =
R.S. =

y

“h-
—

Therefore, the solution to the linear system 1is (

=X

+4 @
oy

ﬁoes L.S. = RS.?
).
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% this lisfedr System by substitution.
/tf+y 6 @ 3x-2y=10 @

Step 1: Use one equation to find an expression for
into the other equation.

Rewrite @ in the fﬂm y:

Substitute this expression into @: 3x —

®) (% [2]/2| (= |132% |~
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Step 3: Substitute x = ___ into éither of the original equations, then E % fory. | K 6
Using@®: 4())+y=26

~ — .
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Step 4: Check by substitutin & Gther equation. —+ 6[

3x—2y=10 @
LS. =3(__)—2(__) R.S. = 10 /
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Solve each system by substitution.

?,
8) x—4y=-7
(J)) 4y — 8y =-20 —>C

- J= I
) XL Yy="/




